Auswertungen - Diagramme
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@Y Ladepunkte v
Carport
Ladung i1 158,087  kWh
Entladung = 0,000  kWh
Summe
Ladung ] 158,087  kWh
Entladung B 0,000 kWh
Ladung (Netz-Anteil) (13 45,424  kWh
Ladung (PV-Anteil) 12631 74,272  kWh
Ladung (Speicher-Anteil) i3 38,389 kWh
Ladung (Ladepunkt-Anteil) (i3] 0,000 kWh




@ Zihler v

Victron Z3hler

Bezug/Verbrauch = 120,873  kWh
Einspeisung/Erzeugung = 59,439  kWh
BB Wechselrichter v
Summe

Erzeugung iz} 587,752  kWh

Victron Wechselrichter

Erzeugung = 587,752 = kWh
Speicher v
Summe

Ladung [ 226,235 = kWh
Entladung = 212,513  kWh

Victron Speicher

Ladung = 226,235  kWh
Entladung B 212,513  kWh
eBikes

Verbrauch 12631 0,798  kWh
Erzeugung = 0,000  kWh
Brunnen

Verbrauch 12631 0,287  kWh
Erzeugung = 0,000  kWh




A Hausverbrauch

Verbrauch

Verbrauch (Netz-Anteil)
Verbrauch (PV-Anteil)
Verbrauch (Speicher-Anteil)

Verbrauch (Ladepunkt-Anteil)

478,756

75,643
228,444
174,664

0,000

kWh

kWh

kWh

kWh

kWh
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